S

If 'x' means '+, - means 'x', '+' means '+' 7.
and '+ means -’ then
(3-15+11}x8+7=7

(1)1 (2) 4 (30

4 8 {S) None of these

If '+' means '+, 'x' means '-', ‘*' means 'x’
and '-° means '+ then what will be the
result of the following expression?

8.
9+3+4-8x12=7?
6L 2) 62 (3) 18
(1) -65 @ 63
(4) -'%‘ (3) None of these
If ‘%' means '+, '-' means ‘%', '+’ means '+ 9.

and '+’ means '-' then
(3-18+11)x13+8=7

and ‘D’ means 'x’ then -
25B5C24A2D12=7

(1) 18 (2) 13 3) 11-

(4) 1 {S) None of these g )

If ‘A’ means -, 'B' means '+, 'C'm +
& 10.

(1) 34

4) 2 (5) f these

If *A" means '+

‘+'and '@’ m then

408 pl3 =7

(1) 69, @75 @78
oS ' (S} None of these

means '+, 'x' means '+, "-' means ‘%'
P~ means '~ then which of the following
will be the correct equation?

(1)72+6-3x5+3=38
(2)72x6+7+2-6=24
(3)72+6+3x5-3=45
(4) 72-6+3x5+3=64
(S) None of these

12

ans ‘x’, '™ means 11.

12,

CODED EQUATION

If '~ means '+, '+ means -, ' meang «,
and '+ means 'x' then which of the
following will be the correct equation?

(1)10+5- 14+ 10 x 15
(2)30+5+14-10x 13 =

(5) None of
If '+ means g,

(5) None of these
eans '+, 'x' means -, ‘+' means 's'
- means '+ then

3 3

(1) 32 (2) 65 (3)-13
{4) 6‘1‘ (5) None of these
If '+' means 'x’, 'x' means '-*, '+ means '+

and - means '+' then

600 +5+15-20%x25 =7 .

(1) 25 (2) -27 . (3) 195 -
(4) -45 (5) None of these

If '+ means "+, 'x' means '+, '-' means '*'
and '+ means '-' then which of the
following will be the correct equation?

(1)24 +8-7x6 +4 =325
(2)20x5+12+6x5=15
(3)20+54+46x12-4= 67-{1;-
(4) 50 -4 + 8 x 18+6 =21
(5} None of these

If x means '+, y means ', z means '*
and p means ‘%' then

(20p2x5y5 28 =7
(1) 5 (2) 10 (3) 15
{4) 20 (5} None of these



Vot I

"+ shows'. ' shows '=", 'x' shows '+, '+
shows '>', shows <, shows %', and '<'
shows '- then the corrcct expression is-

(1)5+2x1=3+14>11
(2)5>2x1-3>4<1
(3)5x2<1-3<4x1l
{4)5<2x1+3>4x11
(5) None of these

If '+ shows "»', 'x' shows '+' '+" shows '+, '~
shows '=', '>' shows ', '='shows ‘<, ‘< shows
- then whzch of the following Wlll be the
correct?

(1}3+2<4+6>3x2
2)3x2<4+6+3<2
(3)3>2<4.6x3x2
(4)3x2xd4=6+3<2

(5} None of these

If '+ means '+, '+ means 'x’, "%’ means "', -

‘means '+, then which of the following will
be the correct ?

(1)18+6-7+5x=x2=20
(2)18+6+7x5-2=18
B)18x6+7+6-2=16
4 18+6=x7+5-2=22
(5) None of these

If '-' means "+, '+ means 'x’,

1 L I%&ns _l’
'*' means '+, then which o@_ jowing

13.

14,

15.

16.

will be the .correct?
{(1})6+20=x12+7-1~=
(2)6 +20-12+7x
(3)6 -20+ 12 x

information ¢

questions: . A% |
%éans AxB.

B means'A-B'.

'A# B means'A+B.
Rupesh donates 7% of his monthly salary
‘R’ and T 3000 as rent of his house. What

will remain with him after donating 7%
and paying house rent?

MR@30VO@7 = 100#R

17.

18.

19.

20.

21.

22.

23.

13

(2)R@7 * R # 100 # 3000
(B)R@ (R * 7 # 100 $ 3000)
(4) 300087 * 100#R@R
(S} None of these

What will be the average of five
continuous even numbers in whieh 'S is
the smallest number? )

(1) (S$20)#5 q@o"nsm
B)S$4 o [AYS $ 1045
(5) None of these *«T

If the price of ¥ 5 then how

much lemons ca" n bj gchased in ¥ 100.

(1)6 = 5#100*,&.@, (2) 100 * 6 #5

(3) 100 $ 64,5 {4)6 » 100@5%
o D

o 5
The 4

22
= times the square

OF 'ts&:adlus How many times the surface
‘@are‘azonI circle will be of radius {r cm)?

\*’*11]’22 sr79r#2]
(2) 22 # 21* re* 1
(3)66 247
(466 ¢ r* r
{5) None of these

If R means x , D means +, A means + and
S means -, then what is the value of

5D 19R11828A177?
(1) 34 246 (3) 35
{4} 48 {5) None of these

If ‘P’ means *’, R means “+°, ‘T means =’
and $ means ‘-, then
18T3P9S8R6=7?

g . .
ea’fpf a circle is

(1) —1% (2) 46 (3) 58

2
(4) 3 {S) None of these

If ‘<’ means ‘minus’, >’ means ‘plus’, =
means ‘multiplied by’, and ‘$’ means
‘divided by’, then what would be the value
of

27>8189«<8=2 =7
(1) 20 (2) -4 (3) 8
(4) 56 {5) None of these



24,

25.

26.

27.

28.

29,

30.

31.

32.

If ‘P* means ‘division’, ‘T means ‘addition, 4) 8 (5) None of these
‘M’ means subatracuon and ‘D' means gl" means "+, "+ MeAns ', "+ mean
‘multiplication’, then what will be the 33. 't menas + then, which of the I'oll
value of the following expression? equation is correct? “"'12
12M12D28P7T15? 1) 36-12%6+3+4=60
(1)-15 (2) 45 (3) - 30 (2) 43 %7 +5+4-8=25 P
(4) 15 (5) None of these x4-12+5+3=420 ok,
, ) e dded (3) 36 z? T
If +' means ‘divided by’, ‘-’ means ‘a S +4+5x8-2=36 p A
to’, %’ means ‘subtracted from’ and (4} 52 * g v'd
means ‘multiplied by’ then what is the (S) None of these oo i 5
value of- 34. If‘+’is written as Ny 1§_ﬁcn S
24+12-18+97 is written as '-’and ** {“)bft_“e“ as ihy
(1) 15.30 (2) 290 (3) -25 what is the actlyrzvai Y ,g
(4) 0.72 (S) None of these 72 +9x45-95 P; ’ 2
If $ means 'plus (+)', # means ‘minus (-}, @ (1) 648 (3} 656
means ‘multiplied (x)’, and * means (4) 636 (5) None of these
‘divided (+)’, then what is the value of 35. K ‘P’ mean@ ’means “’, ‘R’ meang .
'16$4@5#72*87? and ‘S’ then what will be ¢,
{1) 29 (2) 27 (3) 25 value of: W&o owing expression?
(4) 36 (5) None of these 7‘*6 30 R15P 10
If '+ means '-', '~ means "', 'x' means '+ and ,.4‘,"{1%3 )" (2) 39 (3) 48
'+ menas '+ in the given equation, then 4}49 (5) 42
[(217 x 310} + (190 + 114))] - 100+ 50 = ? 36 QIf 4 means “+, ‘Q’ means *’, ‘R’ means*
(1) 40 (2) 60 (3} 80 fg?’%;and ‘T’ means ' then what will be
(4) 100 (5) None of these Q value of
If 'L’ means 'x’, Mmcans+ Nmﬁs@ 120R 15 Q5P 16 T 227
and 'P' menas -' then (1) -34 (2) 16 (3)-35
14N2L7P25M1 =7 (4) 35 (5) 34
{1) -25 (2) -23 L\F\zﬁ 37. If %’ means “’, <’ means “’, ~’ means s
(4) 24 {5) None of th {%@ and ‘+’ means “’ then what will be the
If'+' means '+, '+' means'-, * }%\s <" and value of 800+ 20-4 x40+ 10 ?
'x' menas '+ thcn what is fhe Virue of (1) 3984 (2) 2984 (3) 3264
6x3+2-2+5=7? @ (4) 190 (3) 200
(1) gl @ (3) 3 38. If ‘A’ means *’, ‘B’ means ‘+’, ‘C' means "
5 and ‘D’ means <’ then what is the valueo
{4)4_2_ : 180 B15 D 11 C 8 A 10°?
7 (1)-79 (2) 102 (3) 83
If'P’ denote @' denotes *x*, ‘R’ denotes (4) 92 (5) None of these
+ and’ tes -' then 39. I+’ stands for *~, *~’ stands for +*, & stands
18 for ‘<" and *x’ stands for “+’then, which on¢
k (2) 57 (3) 53 of the following equations is correct?
& (5) 0 (1)265+11-2x 14 = 22
If '+"fieans '-, '-'means ', 'x' means '+ and (2)2-14x4+11=1¢
+' menas '+ then, find the value of (3)46 - 10+ 10 x5 = 92
14x3+11-3+101=27? (4]66x3_11+12=230
(1) 633 (2) -633 (3) 63.48 (5) None of thege
(4) 63.3 (5) -63 40. If ‘P’means «’, ¢ 'means “’, ‘R’ means ¥
If**' means 'x', ‘# means "', ‘@ means "+ and and ‘S” means ' then what is value of

'S’ menas '+ then
25#583*4@6=>?

14

B

154Q14S7P3R259
(1) 35 (2} 57 (3) 42
(4) 25 {S) None of these



Answers with Explanation:
1.

3; After changing signa according to the

question, the new cquation will be;
B3x15+11)+8-7
(45+11)+8-7=?

M30+54+4x1¢. IS5 = 31
From option (4),
30+5+4x%x10-15
=6+40- 15
=46 - 15 = 31 (True)

?6: .‘;? .?7 =P 8. 5, After 'changing 8igns according to the
g question, the new equation willvbe:

o P=0 _ . I18+6-4x3+4 %:gd

After changing signs according to the =3-4%x3+4=3_12+

question, the new equation will be: 27.12 =.5 N %

9+3x4+8-12 :

Ax4+8.1220 9. 1; After changing signs ofc ing to the

128 inea question, the new wn will be:

27+3 x4+ 8 @

20-12 =8 =9 x4+ 8-

Alter _changing signs according to the =36+8-172 12= 32

?Sugs{::;u:, ltr)c+nlc;v+cguatlon will be: 10.3; After changing signs according to the

(544 11)+ 13+ 8 gg;gﬁ;on‘,@ cav_e;;atlon will be:

=65+13+8=5+8=13 & \

After changing signs according to the = 600 x %= + 20 - 25

question, the new equation will be: !g:. F-2N 'i" 15

25+5+24-2x 12 %%40&5*20-25=?

=5+24-24=29.24=5

After changing signs according to
question, the new equation will be:
40 +-8+16x4-13
=5+16x4-13
=5+64-13=69-13 =56
question, the new equations%be:
Here, Nao

(”72-&6*3‘\5&3:3'%&
(2)72*6*7—2!@%
(3)72-6+3 + S
(4)72x6+3 -¥= 146
From optio
72+6x3€f 3
=12 x Al+ 3

.38 (True)

1
(1)10-5+14 x10+15= 143

: 2
(2)30-5-14+10+15= 113

(3)30+5-14 % 10+ 15 = 252

the

e

e

; After changing signs according to the

12.1;

13. 2;

=700 +20-25=7?

7= 220 - 25 = 195

Aflter changing signs according to the
question, the new equations will be:

(1})24+8x7+6-4=23

5
(2020+5+12-6+5=19>

1
(3)20-5+6+ 12x4=67g
4)50x4+8+18-6=37
From option (3},
20-5+6+12 x4

5 3 I
=920 - ~ =268- = = 67—
20 P +48 = 68 P3 3 (True)

After changing signs according to the
question, the new equation will be:
(20x2+5-5)+8

={40+5-5}+8

=(453-5)+8=40+8 =5

After changing signs according to the
question, the new equations will be:

Here,

15

(1)5+2+1<3+14x11

5
or, 3.5< ZH (Incorrect}

(2) 5x2+1=3x4-1 {Correct)
(3}5+2-1=3-4+11



or, 9 = 10 (Incorrect)
{(4)5-2+1>3x4+11
or, 4 > 23 (Incorrect)
From option (2),
Sx2q+1=3xq-.1
=11 =11 (Truc)
14.2; After changing signs according to the
question, the new equations will be:
Here,
{(1)3+2-4>6=x3+2

19.2;

B

=85S +20 = 5(5 + 4)
5(S +4)
5

Average = =S5+4

=S+4=8 3 4
- In Rs. 5, 6 lemons can be Purchasgeq
. In Rs. 100, the number of lemons can
be purchased

2 100 %';‘%%

=-x100=100 * 6 #S

or, -2.5 > 20 (Incorrect) 20.4; Area of total 21 circle’@:rr’
()3+2-4>6+3-2 22 ‘
or, 1 > 0 {Correct) =2l x 7 xr
3}13x2-4=6+3+2 322,‘3”,
or, 2 = 11 {Incorrecy) -Gﬁxrxr-=
(4})3+2+4<6+3-.2 21.5; After chaf8ing signs accordlng to the
::_'09 < Dl}lnc?;;tc n questl w equation will be:
m optlion {2}, 8+ 17
3+2‘4>6-3‘2 31:"2"2=1=’0 8+17 55 28"17
15.2; After Fhanging signs acFordin% 1o 'the #755 7 28 =72 - 28 = 44
question, the new equations will be: s 6{‘ el" changing signs according to the
-2 uestion, the new equation will be:
» -5 . = 107 — ’
(1)18x6+7+5.2 7S F‘*QB 3x0. 846
{218+6x7-5+2=18 é-sxg 8+6=54-8+ 6
6 @ =60 -8 =52
(3)18-6+7Tx6+2= 14; After changing signs according to the
question, the new equation will be:
| 1083 27+81+9-8x2 .
(4)18x6-7+5+2= 5& =27+9-16 =36 - 16 = 20
From option (2), 24.5; After changing signs according to the

18+6x7-5+2=3x
=21-5+2=23.5+=
16.1; After changing si

}ﬂdmg to the

question, the new lmuons will be:
(1) 6 -20+ 12 7 —70 25.2;
(2) 6 x 20+ 14.- 1=

7
[3)6+2a(@;‘47x 1= -4

(4 ei,e\’%\ru 7+1=3 202
F;:\ﬁé; tﬁﬁ"(n,
207 12x7+1
5«00+12x"
=6-20+84=90-20=70 27.5;

17.3; Remaining Amount.

iR
=R. |43
R (lw+ mo]
=R@(R * 7 4 100 $ 3000

18.3; Sum of five continuous even numbers
-S+S+2+S+4+S+6+S+B

16

question, the new equation will be:
12-12x28+7 + 15
=12-12x4+15=12-48 + 15
=27-48=-21

After changing signs according to the
question, the new equation will be:

24 x12 +18+9

=24 x12+2=288+2 =290

After changing signs according to the
question, the new equation will be:

16+4x5-72+8
=16+4x5-9
=16+20-9=36-9 = 27

We have

(217 x 310) + (190 + 114)) x 190] - 10¢
+ 50

After changmg signs according to the
instruction in the question part, the nev
equation will be:

[((217 - 310} - (190 - 114)} + 190] = 10¢
+ 50



21
——7-76 ?190]::!00-!-50

753

[-—-7190] x100+50

_ 753 12
100+ 50= = 39— =10—=
OOX 39 +50 10

28.3; After changing signs accordmg to the

question, the new equation will he:
4+2x7-25+1

=7x7-25+1=49-25+1

=49 +1-25=50-25=25

After changing signs according to the

question, the new equation will be:

6+3-2x2+5

29.1;

5. S
After changing signs according to the
question, the new equation will be:
18x12+4+5-6
=18x3+5-6
=54+5-6=59-6=53

30.3;

31.2;

14+ 3 + 11“3 -101

-]—;-*33 101 = - 63—

--63,3333.....=~ 633

After changing signs ‘gﬁ
question, the new ¢q (5}

32.3;

will be:

figR (4), After changing signs

i

,to the question, the new

33.4;

1
- 4+8c= 47~
Sx 8 >

2
(3’36+4+12x5-3= 34-3—

After changing signs accordmg,t’m‘th _.

34.5; the

35.3; the

36.5; the

the

the

(4)52—4x5+8+2=36
From option (4)’
52-4x5+8+ 2
=52-4x5+4=52-20+4
=52 +4 -20=56 - 20 = 36 (True)
After changing signs according to
question, the new equation wijlzpe:
72x9.45+5+42 =6 w@
=72%9-9+7 =648 - Q4N
=655-9 =645
After changing signsia%y ing to
question, the new %ﬁn will be:
8 x 7 + 30 + 15°\14,
=8 x7+2-1 =56“$°"2- 10
=58-10=4
After cha ng signs according to
questlon e.new equation will be:
120 = 6 22
-A%%s 2 =40 + 16 - 22
= 34
37. 4inAftg hangmg signs according to
Aucition, the new equation will be:
_§00 +20 x 4 +40-10
=40 x 4 +40 - 10
= 160 + 40 -10 = 200 - 10 = 190
2 5; After changing signs according to
question, the new equatjon will be:
180+15-11+8x 10
=12-11+8x10
=12-.11+80 =92-11=81
From equation {4) After changing signs
according to the gquestion, the new
equations will be:

39.4;

3
(1) 265 - 11 x 2+ 14 = 2637

(2)2-14%4+11=16
(3)46 - 10 + 10 x 5 =92
(4)66+3 x11-12 =230
From option (4):

66 +3x11-12
=22x11-12=242-12
= 230 (True)

40.5; After changing signs according to the
question, the new equation will be:
154 +14-7=x3+25
=11-7x3+25=11-21+25
=36 -21=15

17



